Temporal sequence
channels=22
C=1
Time Points(T)=1125
Fs=0Hz-250Hz

Temporal Conv

F1=16
K=(1,Fs/4)
Y
BN
Temporal sequence \ 4
channels=22
C=16
CBAM

Time Points(T)=1125
Fs=4Hz-250Hz

Channel DW Conv
D=2
F2=F1
K=(C,1)

BN+Sigmoid

High-level Temporali
F=32
T=140

Temporal sequence(x1 up)
channels=1
C=32
Time Points(T)=140
Fs=4Hz-32Hz

add™>

High-level Temporal2
F=32
T=70

up

Temporal sequence(x2 up)
channels=1
C=32
Time Points(T)=70
Fs=4Hz-16Hz
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High-level Temporal3
F=32
T=35

up

Temporal sequence(x3 down)

MI-EEG signal encoded into a
sequence of high-level temporal

channels=1
C=32
Time Points(T)=70
Fs=4Hz-8Hz
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Temporal sequence(x2 down)
channels=1
C=82
Time Points(T)=70
Fs=4Hz-16Hz
©
©
c ©
= _
(@)
©
Temporal Temporal Temporal
sequence(x1) sequence(x2) sequence(x3)
channels=1 channels=1 channels=1 <
C=32 C=32 C=32
Time Points(T)=140 Time Points(T)=70 Time Points(T)=35
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